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Kt - BIE R B D) =8B ROHF RKDHFHE EN KDFE
AT LR - TR LR | BHE FEREMRtUS— BN EHE HEREMRtLLS— HET EHE FEREMRtEVS— HETW
hag—&S - E5E 01001 A 01051 A 01101 B
B % B B SEE =/ME BKAfE | m/n| FigfE =/ME BKXfE | m/n| FifE &/ME RK{E | m/n
P H 1.2 6.9 7.6 0/12 1.2 6.7 1.6 0/12 7.1 6.9 7.3 0/12
£| D o mg/| 10 8.8 13 0/12 1 8.9 13 0/12 9.0 1.0 11 0/12
E| B o D mg/1] 1.3 <0.5 2.9 1/12] 1.0 <0.5 1.8 0/12] 1.9 1.1 2.4 0/12
&’ C O D mg/| 1.9 0.9 4.3 -/12 1.7 0.9 3.6 -/12 2.7 1.7 4.8 -/12
5| S mg/| 3 <1 13 0/12 2 <1 1 0/12 3 <1 11 0/12
b} Kﬂmﬁﬁ%ﬂl MPN/100m| | 2.6E+04 | 7.0E+02 | 5.4E+04 | 5/6 | 3.6E+03 | 2. 7E+02 | 1.6E+04 | 4/6 | 6.2E+04 | 2.2E+03 | 1.6E+05 | 5/6
B| n~HUBHmE mg/|
& E % mg/1| 0.7 0.32 1.1 0/2
£ ’;ﬁ mg/1] 0.12 0.088 0.16 0/2
h Sy AFN mg/1{< 0.001 |< 0.001 [< 0.001 0/2 1< 0.001 < 0.001 |< 0.001 0/2 [< 0.001 < 0.001 |< 0.001 0/12
& ~> 7oy mg/| ND ND ND 0/2 ND ND ND 0/2 ND ND ND 0/12
A} mg/1] 0.002 |< 0.002 0.002 0/2 (< 0.002 |<0.002 [<0.002 |0/2| 0.002 (< 0.002 0.002 [0/12
B ATy AL mg/1{< 0.02 <0.02 <0.02 0/2 < 0.02 <0.02 < 0.02 0/2 € 0.02 < 0.02 <0.02 0/12
id * mg/11< 0.005 |< 0.005 (< 0.005 0/2 [< 0.005 (< 0.005 |< 0.005 0/2 [< 0.005 |< 0.005 |< 0.005 |0/12
#w o ok R mg/1]< 0.0005 [< 0.0005 [< 0.0005 | 0/2 |< 0.0005 [< 0.0005 |< 0.0005 | 0/2 |< 0.0005 [< 0.0005 |< 0.0005 |0/12
7L ILIKER mg/|
P C B mg/| ND ND ND 0/1
B| vvyvonirsy mg/11< 0.002 |< 0.002 |<0.002 | 0/2(<0.002 [<0.002 |<0.002 |0/2|<0.002 [<0.002 |<0.002 |0/2
A A mg/1{< 0.0002 |< 0.0002 |< 0.0002 | 0/2 |< 0.0002 [< 0.0002 (< 0.0002 | 0/2 [< 0.0002 |< 0.0002 [< 0.0002 | 0/2
1.2-Y" hon14y mg/1 (< 0.0004 |< 0.0004 |< 0.0004 | 0/2 |[< 0.0004 [< 0.0004 [< 0.0004 | 0/2 [ 0.0004 |< 0.0004 [< 0.0004 | 0/2
1.1=%" yanIfLy mg/11< 0.002 |< 0.002 < 0.002 | 0/2(<0.002 [<0.002 |<0.002 |0/2]<0.002 [<0.002 |<0.002 |0/2
YA-1.2-Y panFby  mg/1|< 0.004 |< 0.004 (< 0.004 | 0/2|< 0.004 |< 0.004 |<0.004 |0/2[<0.004 [<0.004 (<0.004 |O0/2
H| 1.1.1-p9nozsy mg/1 (< 0.0005 |< 0.0005 |< 0.0005 | 0/2 |< 0.0005 [< 0.0005 [< 0.0005 | 0/2 [< 0.0005 |< 0.0005 |[< 0.0005 | 0/2
1.1. 2-M)honzsy mg/1]< 0.0006 |< 0.0006 |< 0.0006 | 0/2 |[< 0.0006 [< 0.0006 |< 0.0006 | 0/2 |[< 0.0006 [< 0.0006 |< 0.0006 | 0/2
ryyoRIFLY mg/lIf< 0.002 |<0.002 [<0.002 |0/2(<0.002 [<0.002 [<0.002 |0/2(<0.002 |<0.002 [<0.002 |0/2
Th3H00IFLY mg/1 (< 0.0005 |< 0.0005 [< 0.0005 | 0/2 |< 0.0005 [< 0.0005 [< 0.0005 | 0/2 [< 0.0005 |< 0.0005 |[< 0.0005 | 0/2
1.3-y hOn7" nA"y mg/1 (< 0.0002 |< 0.0002 |< 0.0002 | 0/2 |< 0.0002 [< 0.0002 [< 0.0002 | 0/2 [< 0.0002 |< 0.0002 |[< 0.0002 | 0/2
Bl ¥ 9 3 L mg/1]< 0.0006 |< 0.0006 |< 0.0006 | 0/2 |[< 0.0006 [< 0.0006 |< 0.0006 | 0/2 |[< 0.0006 [< 0.0006 |< 0.0006 | 0/2
D S Y mg/1 (< 0.0003 |< 0.0003 |< 0.0003 | 0/2 |< 0.0003 [< 0.0003 [< 0.0003 | 0/2 [ 0.0003 |< 0.0003 |< 0.0003 | 0/2
FAARUALT mg/11< 0.002 |< 0.002 (< 0.002 0/2 [< 0.002 (< 0.002 |< 0.002 0/2 < 0.002 (< 0.002 |< 0.002 0/2
Ry ¥y mg/11< 0.001 |< 0.001 [< 0.001 0/2 [< 0.001 |< 0.001 [< 0.001 0/2 |< 0.001 |< 0.001 |< 0.001 0/2
t L Mz mg/11< 0.002 |< 0.002 (< 0.002 0/2 1< 0.002 < 0.002 |< 0.002 0/2 [< 0.002 < 0.002 |< 0.002 0/4
HEMEER mg/1] 0.75 0.73 0.77 -/2 0.82 0.73 0.90 -/2 0.83 0.82 0.84 -/2
EHEAERR mg/11< 0.01 < 0.01 < 0.01 -/2 | 0.01 < 0.01 0.01 -/2 | 0.01 <0.01 0.01 -/2
THER. HHEERMEEZR mg/l| 0.75 0.73 0.77 0/2 0.82 0.74 0.90 0/2 0.84 0.82 0.85 0/2
5 2 * mg/| 0.2 0.2 0.2 0/2 K 0.1 <0.1 <0.1 0/2 0.2 0.1 0.2 0/4
[E3 p) ES mg/1] 0.03 0.03 0.03 0/2( 0.1 0.10 0.11 0/2 ] 0.04 0.03 0.04 0/2
ZA=Nsk; VWA mg/|
FYvA-1.2-Y" hnozfby mg/l
ZE| 1.2-yhmay an Y mg/ |
p-y" honA’ vty mg/|
AV FYFEY mg/|
AT/ mg/|
Bl Jxz=btOFAF> mg/l
A4V7aFt+5y mg/l
VA | mg/|
ZA==E = p=y¥ mg/|
| FaE¥I R mg/|
E P N mg/|
Sy AKX mg/|
J2z/THhLTD mg/|
EH| 4 7ARUEKR mg/|
sa)L=rta7z> mg/l
LTy mg/|
* v L v mg/|
B| 750E&Y IR mg/|
= v 7 1L mg/1]< 0.005 |< 0.005 [< 0.005 | -/1 <0.005 [<0.005 [<0.005 |-/1
T T TV mg/|
TUFEY mg/11< 0.001 |< 0.001 [< 0.001 0/1 < 0.001 [<0.001 [<0.001 0/1
EiEEZILE/ <— mg/l
IE OoOokERY Y mg/l|< 0.0001 < 0.0001 [< 0.0001 | 0/1 < 0.0001 |< 0.0001 [< 0.0001 | 0/1
1,4—24 %492 mg/|
&3 Vv AHY mg/|
i 2 v mg/1{< 0.0002 |< 0.0002 [< 0.0002 | 0/1 < 0.0002 [< 0.0002 [< 0.0002 | 0/1
K| £ E:d £ mg/1] 0.008 0.004 0.010 -/6 | 0.004 0.002 0. 006 -/2 | 0.022 0.012 0.034 -/6
ESRR/A=1=F; WA mg/1]< 0.003 [< 0.003 < 0.003 |-/1]<0.003 [<0.003 [<0.003 |-/1|<0.003 [<0.003 [<0.003 |-/1
| Jz/—)1 mg/11< 0.005 |< 0.005 |< 0.005 -/11< 0.005 < 0.005 |< 0.005 -/1 [ 0.005 < 0.005 |< 0.005 -/1
M| RILLFILTEER  mg/l<0.03 <0.03 <0.03 -/1 (< 0.03 <0.03 <0.03 -/1 1< 0.03 <0.03 <0.03 -/1
Jx/—)EE mg/|
| mg/|
k| H £ mg/ |
H| #% CAfEMH) mg/|
B| <y Ay Gafts) mg/l
9 =] Is mg/|
B aA A mg/l| 12.9 10.0 16.1 -/12] 22.0 13.2 47.0 -/12| 28.2 15.8 40.0 -/12
B ®x = N =3
| Do fafE % 104 97 113 -/12 108 99 120 -/12 96 85 106 -/12
| vOoQ74)a ug/|
#| AR 74)b ug/|
| yOoQIJ4)c ug/|
BH| £s/0074)L ug/|
B| haF/4FK ug/|
B ok K % mg/|
I mg/ |
AILbEEAAY  mg/l




ki - BIE R B = Ve S HoAOJLFE 248 HOONITHR NtEiE
AEIBLHERE - TR L HEEE | BHE BEREMERtELE— BHETW BHE HEREMRELY— HEH BHE HEBEMRtELY— HEH
R —FS-5ER 01201 C 01301 A 01401 C
A % B\ B E{E &/IME RKE |m/n| FiYfE &x/IME BXE | m/n| TiHfE H/ME RAfE |m/n
p H 7.0 6.7 7.1 0/12] 7.0 6.8 1.2 0/12] 7.4 6.7 7.9 0/12
| D o mg/| 1.4 6.0 8.7 0/12 9.6 1.4 12 1/12 8.2 5.4 " 0/12
& B o D mg/| 1.9 0.5 3.4 0/12 1.6 <0.5 3.4 4/12 1.5 0.8 3.1 0/12
®’| C o mg/l1] 2.9 1.5 4.3 -/12] 3.1 1.7 6.6 -/12| 3.7 1.7 6.7 -/12
| s S mg/| 6 <1 27 0/12 4 <1 18 0/12 6 < 32 0/12
BH| KEEBEHY MPN/100m| | 6.2E+04 | 3.5E+03 | 1.6E+05 | —/6 | 2. 0OE+04 | 3.3E+03 | 5 4E+04 | 6/6 | 1.5E+04 | 3.3E+02 | 5.4E+04 | -/6
B| nHUBHmE mg/|
= = ES mg/| 4.9 2.8 7.0 0/2 0.92 0.73 1.1 0/2
£ % mg/| 0.13 0.094 0.16 0/2 0.062 0.035 0.088 0/2
h KL mg/11< 0.001 |< 0.001 [< 0.001 0/2 < 0.001 |< 0.001 < 0.001 0/2
£ T v mg/| ND ND ND 0/2 ND ND ND 0/2
£ mg/1{< 0.002 |< 0.002 [< 0.002 0/2 <0.002 |<0.002 (< 0.002 0/2
B Ky 8 LA mg/11< 0.02 < 0.02 [<0.02 0/2 < 0.02 <0.02 [<0.02 0/2
% mg/1[< 0.005 |< 0.005 |< 0.005 |0/2 <0.005 [<0.005 [<0.005 |0/2
G 7K iR mg/11< 0.0005 |< 0.0005 (< 0.0005 | 0/2 < 0.0005 [< 0.0005 |< 0.0005 | 0/2
T ILFILIKER mg/|
P c B mg/| ND ND ND 0/1
B| vrynoox4sy mg/1{< 0.002 |< 0.002 [< 0.002 0/2 <0.002 |<0.002 (< 0.002 0/2
A [ mg/1{< 0.0002 |< 0.0002 |< 0.0002 | 0/2 < 0.0002 [< 0.0002 |< 0.0002 | 0/2
1.2-Y" hanz4y mg/1]< 0.0004 (< 0.0004 < 0.0004 | 0/2 < 0.0004 |< 0.0004 [< 0.0004 | 0/2
1.1-y" honIFby mg/1{< 0.002 |< 0.002 [< 0.002 0/2 <0.002 [<0.002 [<0.002 0/2
YA-1.2-Y"poozfby  mg/1< 0.004 < 0.004 < 0.004 0/2 <0.004 |<0.004 (<0.004 0/2
®E| 1.1.1-}yhnnzsy mg/1]< 0.0005 (< 0.0005 [< 0.0005 | 0/2 < 0.0005 [< 0.0005 [< 0.0005 | 0/2
1.1.2-p)ynozsy mg/1{< 0.0006 |< 0.0006 |< 0.0006 | 0/2 < 0.0006 |< 0.0006 [< 0.0006 | 0/2
rysaRITFLY mg/1|< 0.002 |< 0.002 (< 0.002 0/2 <0.002 |<0.002 (< 0.002 0/2
Fh39mRIFLY mg/1]< 0.0005 (< 0.0005 [< 0.0005 | 0/2 < 0.0005 [< 0.0005 [< 0.0005 | 0/2
1.3-y"4hon7° oA’y mg/1{< 0.0002 |< 0.0002 |< 0.0002 | 0/2 < 0.0002 [< 0.0002 |< 0.0002 | 0/2
Bl ¥F 7 3 L mg/1 (< 0.0006 |< 0.0006 |< 0.0006 | 0/2 < 0.0006 [< 0.0006 |< 0.0006 | 0/2
D2 S A mg/1]< 0.0003 [< 0.0003 [< 0.0003 | 0/2 < 0.0003 |< 0.0003 [< 0.0003 | 0/2
FARUALT mg/11< 0.002 |< 0.002 (< 0.002 0/2 <0.002 [<0.002 [<0.002 0/2
Ny ooy mg/11< 0.001 |< 0.001 (< 0.001 0/2 < 0.001 |<0.001 (< 0.001 0/2
+ L v mg/1]< 0.002 (< 0.002 < 0.002 |0/2 <0.002 |<0.002 [<0.002 |0/2
HEBEER mg/| 1.9 1.7 2.0 -/2 0.32 0.30 0.33 -/2
EHEMER mg/I{ 0.05 0.03 0.07 -/2 <0.01 < 0.01 <0.01 -/2
FHEE. EAHEAMEEER meg/l 1.9 1.7 2.1 0/2 0.32 0.30 0.33 0/2
A o % mg/1] 0.1 0.1 0.1 0/2 0.1 0.1 0.1 0/2
[ES ) * mg/I{ 0.02 <0.02 0.02 0/2 1< 0.02 <0.02 <0.02 0/2
A==k JIWWN mg/|
Fva-1.2-y"ynnFby me/|
E| 1.2-Yjany an’y mg/ |
p-Y" homA” vty mg/|
1VFYFA mg/|
BALTI, Y mg/|
Bl Jrxz—btOFAr  mg/l
AVTaFtSy mg/|
FllE IR | mg/|
sap420=) mg/|
8| FREY¥=FK mg/|
E P N mg/|
SHONLKRR mg/|
2x/ThLT mg/|
BH| 47ORVHKR mg/|
salL=tozzy mg/l
[ - mg/|
E S mg/|
B| 750EEY IFAEUN mg/ |
= v L mg/11< 0.005 |< 0.005 < 0.005 -/1 < 0.005 |<0.005 (< 0.005 -/1
) ITF U mg/|
7 UTFEY mg/1{< 0.001 |< 0.001 [< 0.001 0/1 < 0.001 € 0.001 [<0.001 0/1
BitEZILE/ <— mg/l
IE/onEFRYY mg/l{< 0.0001 |[< 0.0001 [< 0.0001 | 0/1 < 0.0001 |< 0.0001 [< 0.0001 | 0/1
1,4—CF %9 mg/|
&3 Vv hHY mg/|
P 5 v mg/1]< 0.0002 |< 0.0002 |< 0.0002 | 0/1 0.0013 | 0.0013 | 0.0013 | 0/1
Kl & & mg/1]| 0.024 0. 006 0.079 -/6 [ 0.010 0. 005 0.018 -/6 | 0.009 0.003 0. 020 -/6
£ sookiLL mg/11< 0.003 |< 0.003 (< 0.003 -/1 (< 0.003 |< 0.003 |< 0.003 -/1 1< 0.003 (< 0.003 |< 0.003 -/1
£ 7z/—1 mg/1]< 0.005 [< 0.005 | 0.005 |-/1]<0.005 [<0.005 [<0.005 |-/1|<0.005 [<0.005 [<0.005 |-/1
W HRILLFILTEF  mg/l1)<0.03 [<0.03 [€0.03 -/1(<0.03 [€0.03 < 0.03 -/1 1< 0.03 <0.03 < 0.03 -/1
Jx/—ILE mg/ |
LA mg/|
BR| B $h mg/|
H| & CEfRTE) mg/|
B| <vHAY GafEl) mg/l
4 a s mg/ |
B, Aa x> mg/l 126 15.7 340 -/12|1 15.3 12.9 21.0 -/12 8580 1830 14700 |-/12
B % = N =3
Z| Do fafE % 81 67 92 -/12| 100 92 112 -/12 94 68 128 -/12
| yOoQI74)a ug/1
| sAA74)b ug/|
®| yEO74)bc ug/|
EH| £/0[074) ug/|
B| hoF/AF ug/|
ok Kk % mg/|
TURYLREE R mg/ |
AL hEBAAY  mg/l






